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from math import factorial

def binome(n,p): :
return(factorial(n)//factorial(n-p)//factorial(p))

def P(n): [
if n==0 or n==1:
return 1
else:
som=0
for p in range(l,n+1):
som=somtbinome(n-1,p-1)*P{n-p)
return(som) i

for n in range(21):
print(’P(’,n,?) = ? P(n))

In [4]: (executing lines 1 to 17 of "NombreDeBell (partitions).py")

P(O)= 1
P(1)= 1

PL2)= 2

P(3)= 5

P(4) = 15

P(B5) = 52

P(6) = 203

P(7 )= 877

P(8) = 4140

P(9 )= 21147

P 10 )} = 115975

P( 11 ) = 678570

P( 12 ) = 4213597

P( 13 ) = 27644437

P( 14 ) = 190899322

P( 15 ) = 1382958545

P( 16 ) = 10480142147

P( 17 ) = 82864869804

P( 18 ) = 682076806159
P( 19 ) = 5832742205057 ¢
P( 20 ) = 51724158235372

ta &1 ~ Fin corrigé de l'exercice - ————
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